
Class:Class 5 Subject: Maths Topic:Times Tables

S.No Question Answer Options

1 Select the correct option : 12 
* 12 =

144

132

120

156

144

132

120

156

2

Delhi railway station has 10 
platforms. There are two 
tracks at each platform. If 3 
trains pass every hour on 
each track, how many trains 
pass in a day?

1440

144

60

72

1440

144

60

72
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3
What would you add to the 
last digit of 8509 to make it 
divisible by 3?

4

1

2

3

4

1

2

3

4 Fill in the blanks : 7 x 5 = 
____________

Answer
____________

Answer
____________

5

State whether this is true or 
false : The sum of the digits 
of all the multiples of 9 is 9 
itself.

True

False

True

False
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Correct Answer is
1. Correct Ans option is 144
2. Correct Ans option is 1440
3. Correct Ans option is 2
4. Correct Answer is 35
5. Correct Ans option is True

3

© 2015 Learning World Education Solutions Pvt. Ltd ( LWES). Excelonz is a brand of LWES. All Rights Reserved. This content may not be used, altered, copied,re-used or redistributed without prior consent from LWES.


